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/7 0 unfocused tone; breathing through instr. (sim.)
A% 7S i - X i - % i
§4— s 2 = 2 :
[Ree - - - val [Ree - va] [Ree - va)
unfocused tone; breathing through instr. (sim.)
©f . 3 = 2 3 = 3 2
k> 3
)]
}Ree - - - vaj [Ree - vaj [Ree - vaj
unfocused tone; breathing through instr. (sim.)
% 7S i = % i = x |
S4—7p e 5 5 = =
}Ree - - - val [Ree - va] [Ree - va)
e unfocused tone; breathing through instr. (sim.) _
= = = = = <
L s 1 2 | o
}Ree - - - vaj [Ree - va] [Ree - val
L unfocused tone; breathing through instr.
A% % | - 1 { - + |
g4— : 2 2 = s
}Ree - - - vaj [Ree - va] [Ree - val
unfocused tone; breathilng through instr. (sim.) |
e 3 = 2 3 = = E:
D)
}Ree - - - vaj [Ree - va] [Ree - val
unfocused tone; breathing through instr. (sim.)
2 2 -,@
o= 2 - - ! 2
N ‘i * %
}Ree - - - vaj [Ree - vaj [Ree - vaj
e
L 3 7 < 72 - - -
{ I/ |4 yA PN
Y f -
) ¢
| ‘ ————
PE =TT =0 . = =" 5
N hit with Tri. beater
u 4 b 9 ? - L9 9 - | | |
LL} 4 ~— U [ I [ - / I ol T 1
S v J aw)
811 __________________ a
= o '—\ o
< aeolian trem. q'-\ / 3% /EI o8 ﬁ( fi\o'—
A = — = = e I = e
ks 3 AY) i ] [ I <] 1% I !
v RS IS RN IS
f? loco; m.d. \ p ¥ ¥ / \f p
— N S eyl C R | T N B
{7 — N—— gt o ‘ﬁbr— = e’ ==~ -
k> 3 /A Vi® AN = | — 0 11 Ve el
o = o)
F— i F= : P/
=" = | = | = | =
4 f f f i
o
Il /1 | I I ]
% - | = | = | |
k> 3 I I I 1
REEVA emergente delicatiss. ; quasj angelico
(emerging delicatly: as if angelic) ”.f - P mp—
O— #0 ——— T #P r T P—g'P_P—R‘—I
k> 3 | WA (%] & - [ | [ L) | 1 |
'm 4 —" —¢ — I —1 ! i
Hash- Hash - - - - - - - tag,
2 |Slow; floatingly (/- c. 48-54)
J e\ T PN s
&
o) >
v £’ — == S
o £\ £\ A\ /£
& 7 & O, r<3 1| [ ’/ [ [e3 / Fe3 IL
e e e Fe e S e e e
D) E): ] ——=—Em———S
f————7p e
/\:9_ o :9_ é —
:IE} "i A [ p 2 p 2 : @) = 2 o =
:IE} "i VA rN r-N O
f ppp———f p
go e mee
5 @ _
~e o 2 il z= Y _ _
@_ﬁ 4 —— < ¥ ¥ . .
"i VA PN PN (8]
f ppp———f p
Ly
— o o o o o
o o 73 I o e o L. o j—
- — = . — — = - —
% < ¥ ¥ I I I
{ I/ yA PN PN T T T
~ e = -
f pp———f p



